FRF BT L LMEEZERORHARL

(5F1344 H 1 HELE)

s Zx = EES
w g I BT E D w g ) B REE fird =
" VDb " ZFEK] EA
[0)
AoA o \ysette - 5 - IR - T
32 23 207 54 20.2 |ETEREBEINTWALHD

(DHTBEIBESE 2 0 250 3IEIFEDSF BT 2 LMELZE OB RN
(53444 A 1 HETE)

TR BRI ﬁjﬁ‘ 5%?"}% S
1 |RAEZEHES RAZEIEF IS 12 4| 33.3
2 |1E BAd FE OB = ik = %ﬁg?ﬁ%ﬁ%ﬁ% 9 2| 22.2
3 BB THERBE RS f&%i)ﬁ%ﬁ R 8 3| 37.5
4 |5 H D ERMERES fiﬁ Z;EF%EE% 11 11 9.1
e 2 N EYA =T XACZTT T
5 %@wm«m/ s EE |, Lo m g 10 51 50.0
—= A
6 [fasERES %K%%jfg;gﬂ:i 12 ol 16.7
7 (M B RS S %ﬂéﬁﬂ%@fﬁﬁ 5 of 0.0
L e S Vet T B TR
9 [HpZERES %ﬁéﬁ%w}%%%& 10 ol 0.0
10 FS TR TH I RN BRI NS SRR | i s B - (8 A 5 U 200
HEEAS s g | .
L1 | Wit e e I R R R 2 s T ke A 3t 5 ol 333
ISES EiR L= lﬁ%fﬁ :
1o | B A B R S %Q%WEWQ 1 1| a1
13 [BBR T AR O s %ﬁﬁﬁg@%@% 14 6| 42.9
14 |G TR P 7K PE S5 L ) 5 gﬁ%ﬁﬁ)ﬁ*ﬂ%%%& 1 3| 27.3
15 | BETH B TR g%wm&m 10 3l 30.0
16 | B T e R g;@igjw’ﬁ%% 7 1| 143
17 | B A e R RS %ﬁﬁ%w}a*&%& 8 1| 12,5
&t 159 36| 22.6




(2) M7 HVRIESE 1 8 05D 5 DBUTIRBIZ B

5 E Mz B AR
(5344 A 1 HEIE)

N E | BB |9 bkt atES

HEERBS 4 4 2| 50.0

EREHEES 4 4 ol 0.0

ANELZBESFHIINEEES - - - -

= 2 2 o] 0.0

=¥LES 9 9 1 11.1

EEEMEELZES 3 3 0| 0.0

s 22 22 3 13.6
(3) FDOMHRA « BEHIZHIC LV ERE IV TV D EimE ORI
(5F1 344 A 1 AEALE)
B k . BN AE M| o B .
Tk, mEmn |20 jf‘ %ﬁf Kt ”% =

A s e e s g sl 375
B %S 5 — i ik T .

2 [BAK—DAFPHEZ RS R T 6| 2 33.3
5 o TR T B I B ol TR B T, | ot o st VR et o 14 6l 429
EES ol s 2 1 .

4 PO T T S I L Sl 2R (T X | o P 4 O i e 7 ol o0
TR A (3t a2 o 8 B4R :

5 |WETHT TR T3 R & SR W) W5 742 T i 7 ol 0.0
EES AR EHHSHN .

- e IR =T S

6 |5 A E R R RS s 2 1 11 of 0.0

A

7 |memenns )3: fg;}%ﬁiﬁ% 14 1|71
e T o | TR T 2K S 4 B

8 [T T MR SREIR B SR AR | sy e om0y 9 1| 111
T TER S W TN - il 7 7

9 %gi}%* R 7 ) R L) SR 10 2| 20.0

A bt
At 86 15| 17.4




